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Introduction
In the Ljubljana meeting a working assumption on modeling of LOS path loss was made [1]. Previously, an agreement on the requirements of the model has been made in [2], which among others included the following requirements:
· Support frequency range up to 100 GHz. 
· The critical path of the SI is 6 – 100 GHz
· The model should be consistent in space, time and frequency
The working assumption on the LOS path loss models was agreed without a detailed analysis of the characteristics of the proposed models. In this contribution we take a closer look at the LOS path loss models in the working assumption and whether they fulfill the requirements. 
LOS path loss
The path loss models according to the working assumption [1] are reproduced here: 
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It should be noted that the UMa and UMi path loss models are very similar but not identical to those of the 3D SCM model [3]. Since some of the parameters have changed slightly it is important to ensure that the breakpoint modeling is still correct. However, as can be seen in Figure 1, the new models have strong discontinuities at the break point, both in UMa and in UMi. Before the break point, the new and old models are quite similar. Also the shadow fading standard deviation is similar but not exactly the same.
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[bookmark: _Ref447226715]Figure 1 Comparison of LOS path loss models according to the working assumption [1] with the 3D SCM LOS path loss models. The frequency is 6 GHz and the effective environment height in the UMa scenario is 1 m.
Observation 1: The new LOS path loss models suffer from strong discontinuities at the break point. 

Observation 2: The 3D SCM LOS path loss models can represent also the new measurements well due to the similarity of the parameters
[bookmark: _Ref447206880]Discussion
It should be fairly easy to remove the discontinuities at the break point by modifying the expressions. However this still leaves some minor differences that would cause issues with discontinuities over the 6 GHz border if the < 6 GHz behaviour is kept consistent with the 3D SCM model as is desirable. Therefore, it is proposed to reuse the 3D SCM LOS path loss models instead.
Conclusion
To avoid discontinuous path loss models and maintain frequency consistency and consistency with the 3D SCM model the following is proposed:
Proposal: Adopt the 3D SCM 36.873 LOS path loss models for use in the UMa and UMi scenarios. 
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« The applicable frequency range of the PL formula s fL <fc< 100 GHz, where f, = 0.8 GHz.
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* As definedin36.873, d'ee =4 s Niurfc, Where ., is the centre frequencyin Hz, ¢ = 3.0x10° misis the propagation
velocity infree space, and h's and 'y are the effeciive antenna heights atihe BS andthe UT, respectively In Ul scenario
the effective antennaheights hissand h'urare computed as follows: s = hes — 1.0 M, K'ur= hyr—1.0 m, where hes and hur
are the actual antenna heights, and the effective environment heightis assumedto be equalto 1.0m. In Ula scenariothe
effective antennaeights hissand h'yrare Computed asfOlloWS: M es = hes — Ne, Nur= Nur— he, Where hes and hyr are the
‘actual antenna heights, and he effective environment height heis afunction of the link between a BS anda UT.In the event
that the linkis determinedto be LOS, he=1m with a probability equalto 1/(1+C{d:p, hur)) and chosen from a discrete uniform
distribution uniform(12,15, __ (hyr-1.5)) otherwise.




